®
g=
g NS &
> o
o *
n a|8|8|8 -
()] <|S|S|S
|9
a c
(@) ulololo ]
S R=-R-IR=] 5
c W 5|55 g g
g 5
o v § |
c— o= = =
= = > =
o g
ab —|lololo s 2 ¢
23 =1818|8 :
s
v A £ 55 S & o
g 2 3 2
ao 2 3 8 £ & 2
cC = 8l g e £ 5 5 % 3
w| = o 3 £ & & £ @
C n gl<|z &35 £ ¢
T A e o
o T £
c a2 8 g & ¥ &8 ~
OVilaon|HF
—_ U = e o =
R 53 % M =
HIPARS g u-—
PA al<ls x ° o —— O

P ———— - ]

I ! !
\ \
| ! |

REVISION

SK001
2010-07-19

DATE OF ISSUE

&
z
)
=z
=
<
oc
a

e ¥y g

et L g

ﬁ

[

»

-

F- Y
WNVDNIOd

E

A=COM




	2-Walkability
	3-Population
	4-Employment
	5-Connectivity
	6-PedestrianConnectivity
	7-AccessToPublicSpace
	8-DiverseUses

